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(4)

@’s ~ §

GECTION -

aE x oF AP ngﬁ'q (linl\-'t:rsal sct) %, A 3 i

3 2wy 3, A G § Fa w9 Al
(A) A-BcA B) AnBcAUB

(C] (A W, B] =A'N B
Which of the following statement is not correct 7
Given X is universal set, A and B are two sets :

3

D) AUB=ACUBR

A) A-BcA B) ANBcAUB

(C] AuUB)=AnB (D) AUB)=ACUB

T f( = © & T (Domain) AR T (Range)

X REwEDnro
(A) @id R, 98T R (B) Wid R, AT R

(C) "d R, §ATT R (D) ¥d R, ¥8X R’
Domain and range of f(x) = x* are :

(A) DomainR,RangeR (B) DomainR’, Range R
(C) Domamn R, RangeR° (D) Domain R’, Range R’

cos"—+1an —-sin‘ - F HH :
3 b 2 %
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(5)
R _einde is cqual tg
The value of Coge ® lil”lg -sin” 5
3 -

S) S

= i -5
A5 B 12

I l
C 2 -
(C) 5 ( =
COS7X +CosSy ;

"= e, X

SIN7X -sin3y
(A) cot x (B) tan X

‘ 08 bX
(C) sin 6x (D) cos 6

CosTx 4+ COS DX
e —
sin7x - N OX
(A) cot x REw *;_.P[;égm tan x

The value of 1S .

(C) sin bx (D) cos 6x
s.ufaz=7+24;,ﬁ1|z|ana7%: 1
(A) 31 (B) 7
(C) 24 (D) 25
I Z =7+241, then | Z| 1s equal to .
AX 3l (B) 7
(C) 24 (D) 25
6. '“C, & AM g 1
(A) 2112 (B) 220
(C) 36 (D) & q FiE e

P.T.O
731
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(]U'l] L« ?31
- -4 P C )
The value of =3 15 ©
(A) 2112 (B) 220
] 2112
(C) 36 (D) None of these

-

7. 3(x - 2) &_""_)_(_2_;__‘_! dr 29 srqfaa (invqualmn)

5 3
FEd 8 :
(A) x<2 (B) x> 2
(C) x<2 (DY x>2
The solution of the mequation 3('\-___ 2) . 52~ x)
Py 3 3
iS ; E::*:‘_P InEo
i x=2 Jf) x> 2
(C) x=2 (D) x> 2
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(7)
1‘:3 i 8 G.p.oof 10 terms .
39 37 is: £

LOth term 1§

w 20 w3

2 (_%‘
" o |5

(C)
2 = o
9. 5) | 3 Z (slope) AT 737
%13&]3%@3‘#(% 3(boptl
WW% 1
sz-ﬁy-arg:o Mz,r—:iy—:’):()
(C) 3\-2y+-; 0‘ (D) 3x-2y-5=0

The equation of qndlghl line passing through

(3, 5) and slope = :—3- 1S

(A) 2x-3y+9=0 (B) 2x -Sy- =0

(C) 3x-2y+5=0 (B 3x—2y-=5=0
10. Wa@d x* = day # A4S Far H T ¥ 1

(A) a (B) 4a

€l 2a (D) 399 A F

Latus rectum of the parabola x? - day is :

(A) a (B) 4a

(C) 2a (D) None of these

731 P.T.O



12.

t
Eni 3 _ax LA
(B)
(A) 4
| (D)
(€C) U
l ______}_:_;i-——— is equal to :
xl E-.]..’ ,(3 _-4;(") +4X
(A) 4 (B)
(C) O . (D)
REWEDINFo
R ond 3.
—tan~x 9497 & :
dx
(A) St?(.‘2 X (B)
. 3.
(C) 2tanxsec” x (D)

R
—tan” x |
ix n” X s equal tg -

| sec? x
g (B)

uz{ 21an x sep? b "
l

.
2

Not defined

2tan x

)
cot™ X

2tan X

.
col™ A

731



14.

) (9) 31
]'Il]"'l SIN ax 2
v o0 bx L
(A) “a | b
b (B) —
12
(C 9] v
) (D) qfraig S7
i Sinay .
50 by tqual g
A 4 b
b (B) —
a
C) 0 -
(<) NEw S o (D) Not defined
i 3 H x P AN
Yt X % U9 S19hais (Derivative) B
i l '
(A) 2x+— T
2.X (B) .?.A + -—-3—
X
) G- oy 3+
X 2X
_ | 2 1 )
The derivative of x™ + 2 With respect to x 1S
1
(A) 2I+,—" (B) 2x+-2._
2% X3
q 3
(C) 2x- —2-7 B S
5 2x



15, & = faEn ¥ s
ﬁ 431’(11 b
(Head) 34 ° :
]
l B) !
(Al 5 S
3 (D)
C) -
(C) 3
Three fair coins are 10ssed. The probability of
head is -

getting exactly one

!
A 3 8
) 2 (D) |
8
-@%ﬂsm4m@76aﬁﬁ?uwﬁa
T P a8 W R ger 7 A3 %
qaar & 1
! 4
A = hd
A3 15
. B 2
‘(‘)g J‘D)/E

A bag contains 5 white, 4 black and 6 red balls
A ball is drawn at random. The probability that
the ball drawn is pot white is :

B
‘)15

€ | s

(A)

2
g

Nne

(C)
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Quz - 4
SEcTION - B
17. & T X sy g e ¥ X 1T 57
AT Y " 38 49499 ¥ 5
ﬁzgmgluﬁXt_JYﬁ 1:n

T X Y A Py gy ¥ 7 :

such that X has |7

and X v Y has 38
mxny

If X and Y are two sclts
L‘lCIﬂCII[S, Y hag 23 c]tflncnls

clements. Find the nuynber ofnlcmcnts
18. A= 30 %

cos(x +135°) -cos(x - 135°%) = -ﬁ SIN X

Prove that .

cos(x +135%) -cos(x - 135°) = \/5 SIN X

3 .
lm SiN X = g #H 96 & (General soluton)

SifeAlEY 2
. > S ' , :
Find the general olution of the equation

3

S &= ==
2




_ nber  Of  qipr.
Find the nul lereny g letter

can be .
arrangements that Made from the letier

N.
of the word EQUATIO Also find the number of

arrangements In which vowels are together.

Fal ] 5 '
21 (3)(2____} 3 AR A 63 T s Fif, 2
3x
Find the 6th term _‘i;n the expansion  of
[3)(2 ——l—) :
| 3x,

-

2% fag (1, -2) @ W 12x-5y+4=0 & W &

It 2
Find the distance of the point (1, -2) from line
12x-5y+4=0.

za./aﬂﬁiﬁrﬂtﬁwrmmmzﬁr%a(s,ﬂﬂa
@Tiﬁﬁ“'—ﬁ(‘ll)ﬁw@n <

Fil'ld thC C‘qUatiOn Or the Cil‘C]C haVing centre ()l‘

(3, 4) and Passing through the point (-2, 1).

731
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24. ar Y =see xy dy g

dx

“”.t | 1‘,

dy

] Y =Seexy _ ol
X, then find dx

dn

25. [=ifafas THY 3 g A A faae  (Mey,

Deviation) §13 Ffzm. 2

4,7,8,9, jo, 12, 13, 17

Find mean deviatior, from mean for the: data

L
given below : pre s
4,7.8,9,10, 12, 13, 17

26. F= E 8 B R 52 v F oA F TE H TF T
g e @@ 2, @ IW W™ P dT H G &
qe9E a4 P miwar sia Ffe 5

One card is drawn from a well-shuffled pack of
52 cards. Find the probability that carg drawn is

a diamond or king.

731
P.T.O
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@’s —

731

; . 3x +SINJy .
7. i sinX f-sm;; Sx=( A
(General Soluti(ml lglis'Ql ;
soluty
Find the gcncra_l tion of
nSx=v.

sin x +sin3x + SH.

%fmmauﬁmnafqa&ul%nmgmnqﬁ
% 4r A A 4

Find the sum of first 1 terms of an A. P. whose

the equation

nth term is 3n *+1.

Kﬁmmn}ﬂﬁﬂaﬁwwsmmmwm
2 @ g 10d T A LT 4

If 3rd term of a G.P. 1s 324 and 7th term is 64,
then find 10th term. ‘} |

SN X
30,~ P F x d U HgHeS (Derivative) 0
COS X

~ o sin x ‘
Find the derivative of ——=— with respect to x.
1+ cos x

31. fagatt (4, 8, 10) dix 6 10, -8) @ e e CIKRE
# YZplane R gy  fesifor aveet 2 7 4

Find the r
points (4, 8
plane.

alo in which the line joining l.hc
» 10) ang (6, 10, -8) is divided by YZ-

731
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(15)
gug - &
SECTION-D
33, foa @b R F
eas &+ oas y’2 tsinx — sin yl = 4cos” Lx+3 4
Prove that -
5 (X + Yy)

(COS X + COS Y)* + (sin v _ sin y)* = 4cos”
®
pewDinro. R

@F'ﬁﬂ¢fmﬁoﬁtﬁo%awa%qm?ﬁm3omo
1 S B H1E M oay a9 # adeErs S| A @y
Ay & F® 9T JAfaia Ho1 F A WSFF F FaRu
The diameter of a circle is 60 cm and length of
the chord of the circle is 30 cm. Find the length
of the minor arc of the chord. Also find the angle
subtended by the minor arc at the centre
radians.

7 nfordg seE @ | (Principle of Mathematical
Induction) 3 & it f& 6

| n

I 1 ]
— P— A R =
Ixd " dx7  FTxl0 Bn-2)(3n+1) 3n-+l

Prove by principle of Mathematical Induction

] ] | ] rn
R LR T
lx4 ad %7 7,,(1() ('311-2)(.'3!14-!] 3n + 1
PTO
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34. 39 dfga 1 wiwT W A e = (0, 0), o
Y (25, 0) T AW (Focus) (+4, 0) T & 6

Find the equation of the ellipse with vertices at
+5, 0), foci at (+4, 0) and centre at (0, 0).

35. MHldfigd grarar de5 F Oreg 3 99 fEaa a9
~ L ]
e T :

%k whs
I

— . U -

| F-3TUA 020 20-40 40.60 60-80 80-100 | 100-120 120-140

C 9E@RdT | 2 3 | s 10 3 | 5 2 |

Calculate mean and variance of the following
data :
- B — :
Class-Interval | 0-20  20-40 40-60 60-80 | 80-100 100120 120-140
|- i‘ If - — o S— 1
Frcg_ucnc;,_r | 2 | 3 | 5 10 3 5 2

71.3 —--





